	Type or print the complete			0.489899000	OMPLETE	24														
	Bid No. 013-JJ05				OSAL FORM (	FORMAT B)				8/24/00 BIO COMPANY,	1									
	TITLE: SCIENCE EQUIPMENT & SUPPLIES			5.5 ;	COAL TOKIN		COMPLETE		113	Alin	رب <i>ه</i>									
	BUYER: Gladys Forero-Beltran						VEDIEIED	v. W	12	3/2410	7									
					IF		VEINI IEU D	<u> </u>	<del>                                     </del>	01-	*****				• [			CONNECTI	CUT VALLEY BIOLOG	ICAL SUPPLY
		ESTIM/ TED		PRICE	OFFERING OTHER	B	ENZ MICROSCO	1	<b></b>	BIO COMPANY,		CAPI	TAL MICROSCOPE	SERVICES	CAI	ROLINA BIOLO	GICALS-	<b> </b>	co,	1
ITEM	DESCRIPTION OF ITEM	QUANT TY	( UNIT (UOM)	PER UNIT	THAN APPROVED	Unit Price	Total Price	Manut & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Mo	Unit Price	Total Price	Manuf & Mod	Unit Price	Total Price	Manuf & Mod
	WARRANTY: Please indicate warranty if greater than one (1) year for each item as it applies,					LOCAT, SHI APPLY TO C	BID. R: \$25.00 PER : PPING CHARC ORDERS UNDE BLANK: 6-31,	ES WILL R \$25.00.	ITEMS 15	ED GROUP III -E ,16 & 19 ONLY. SROUPS.	BID ON LINE DID NOT BID	LINE ITE BID GRO GROUP	ATE VENDOR FO MS 4 & 5. JUP I, LINE ITEMS II LINE ITEMS 4 & BID OTHERS.	1-3 AND	4	O GROUP IV, I 24, DID NOT E	TEMS 21 SID ALL ITEM:	BID ON ITE	EMS 1-3; OTHERS L	
	GROUP I: The rollowing items will be awarded as a total low bid basis. Vendor must bid all items to be considered for award, items 1 through 3																			
1	MICROSCOPE,monocular, ultra ille cool light, fluorescent illumination system; with 4X, 10X, 40XR objectives; Stage: plain; Condenser; N.A. 0.65;	404	EΑ			\$244.00	\$98,576.00	SWIFT M3501DF	To the state of th			\$232.47	\$93,917.88	AS SPEC	\$248.00	\$100,192.00	59-5517	\$285.00	\$115,140.00	
	Approved Brand:Swift #M3501DF, Fisher Scientific S19617-5 or Equal																			
2	MICROSCOPE,stereo, ultra lite illumination with 1X, 3X objectives; W10XD, 23mm; illuminator: Incident - 6V, 20W Halogen with dimmer switch.	143	EA			\$412.00	\$58,916.00	SWIFT #SM95-9- HF				\$402.57	\$57,567.51	AS SPEC	\$459.00	\$65,637.00	SPEC61882	\$495.00	\$70,785.00	
	Approved Brand: Swift #SM95-SM90HF, Fisher Scientific S95265B or Equal																		The state of the s	
	MICROSCOPE, stereo, ultra lite illumination with 1X, 2X objectives; W10XD, 23mm; illuminator; Incident - 6V, 20W Halogen with dimmer switch Approved Brand: Switt #SM91-SM90HF, Fisher Scientific S95265A or Equal	147	EA			\$412.00	\$60,564,00	SWIFT #SM91- 90HF				\$402.57	\$59,177.79	AS SPEC	\$459.00	\$67,473.00	SPEC61882	\$495.00	\$72,765.00	
	TOTAL ITEMS 1-3						\$218,056.00			LEFT BLANK			\$210,663.18			\$233,302.00			\$258,690.00	
	GROUP II:											i			i					
	The following items will be awarded as a total low bid basis. Vendor must bid both items to be awarded. Items 4 and 5															-				i de la companya de l
	MICROSCOPE Research Digital Microscope, 2.0 megant, 1,600 x 1,280-resolution, true-color images with this research-grade digital microscope.	4	EA			\$1,190.00	\$4,760.00	NATIONAL #DC5-163- ASC				\$990.00	\$3,960,00	AS SPEC	\$925.00	\$3,700.00	59-1155 (591300 DISC)			
	Approved Brand: Wolfe DigiVu/Carolina Biological #591300 or equal MICROSCOPE Computed														[					
5	MICROSCOPE Computer stereomicroscope, 2.0 megapixel, built in high-resolution camera connects to compuer via USB 2.0.	7	EA			\$999.00		NATIONAL #DC5- 420TH				\$990.00	\$6;930.00	AS SPEC	\$1,245,00	\$8,715.00	59-2016			
	Approved Brand: Wolfe DigiVu CM Carolina Biological #592016 or equal																			
	TOTAL ITEMS 4 & 5						\$6,993.00			LEFT BLANK			\$10,890.00			\$12,415.00			LEFT BLANK	

					4000000000000															
	Type or print the complete				OMPLETE															
	name of the bidder in this box:			ALL HIGH	JGHTED ARE	AS														
	Bid No. 013-JJ05			BID PROP	OSAL FORM	FORMAT B)														
	TITLE: SCIENCE EQUIPMENT & SUPPLIES						COMPLETE	D BY:												
	BUYER: Gladys Forero-Beltran						VERIFIED B	BY:												
		ESTIMA TED		PRICE	IF OFFERING OTHER	В	ENZ MICROSCO	OPE		BIO COMPANY,	NC	CAPIT	AL MICROSCOPE	SERVICES	CAR	OLINA BIOLOG	ICALS-	CONNECTIO	CO.	CAL SUPPLY
ITEM	DESCRIPTION OF ITEM	QUANT TY	UNIT (UOM)	PER UNIT	THAN	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Mo	Î d€Unit Price	Total Price	Manuf & Mode	Unit Price	Total Price	Manuf & Mod
	GROUP III:											I								
	The following items will be awarded on a total low bid basis. Vendor must bid all items in Group to be awarded. Items 6 through 20.						The state of the s			QUALIFIED GROUP, DID NOT BID ALL ITEMS.		Account Manager & Company								
6	CHART - PERIODIC TABLE, Each element displays IUPAC name, symbol, atomic weight, oxidation states; density, boiling and melting points, number of naturally occurring radioactive isotopes and pertinent information for the most abundant radioactive isotope.		EA									NB			\$40.95	\$696.15	57-9618			
	Approved Brands: Print Lab # LL1015, Fisher Science #S45525 or equal																			
7	CHART - ASTRONOMY/SOLARSYSTEM Colorful Complete Set:	12	EA									NB			NB					
	Approved Brands: Denoyer Geppert #1940 41, Fisher Science #S2401141 or equal														NB					
8	CHART - WEATHER SERIES complete set of 6 (including Weather Map) with Charthead/Tripod. Dimensions: 44" x 36".	16	EA												NB					
	Approved Brand: Denoyer Geppert #1930- 41, Fisher Science S2401041, or equal														NB					
	CHART - ZOOLOGY SET 21 Multi Colored Charts, Dimensions: 44" x 36" - complete series on charthead with tripod stand.	4	EΑ						The state of the s			NB			NB	·				
	Approved Brand: Denoyer Geppert #1994 41, Fisher Science S23151-41, or equal																			
10	CHART - LIFE SCIENCE SERIES complete biology chart series that surveys and highlights the divesity of life with more than 300 illustrations. Approved Brand: Denoyer Geppert #1030- 41, Fisher Scientific #82305041 or Equal	8	EA									NB			NB					
11	MAP-WEATHER MAP/PLOTTINGCHART Double sided chart helps students record and forecast weather conditions,	51	EA									NB			NΒ					
	Approved Brand: American Educational Products #462, Fisher Science #S45523 or Equal																			
	MODEL - MAP PROJECTION, Has lhree (3) map projections: cylindrical, conical, and azmuthal;	17	EA							·		NB			NB					
	Approved Brand: American Educational Products #675, Fisher Science #S45065 or Equal																			
13	GLOBE - HYDROGRAPHIC RELIEF	47																		

	Type or print the complete			PLEASE C	OMPLETE															
	name of the bidder in this box:	ĺ		ALL HIGH	LIGHTED ARE	AS														
	Bid No. 013-JJ05			BIO PROP	OSAL FORM (I	FORMAT B)														
	TITLE: SCIENCE EQUIPMENT & SUPPLIES						COMPLETE	.D BY:												
	BUYER: Gladys Forero-Beltran	<u> </u>		<u> </u>		<u> </u>	VERIFIED B	:Y:												
		ESTIMA TED		PRICE	OFFERING	8	BENZ MICROSCO	)PE		BIO COMPANY, II	NC	CAPIT	TAL MICROSCOPE S	SERVICES	CAR	OLINA BIOLOGI	ICALS-	CONNECTIC	CO.	ICAL SUPPLY
ITEM		QUANTI TY			OTHER THAN APPROVED	Unit Price	Total Price	Manuf & Model	Unit Price		Manuf & Model	Unit Price	Total Price	Manuf & Mod	Linit Price	Total Price	Manul & Mode	Linit Price	Total Price	Manuf & Moo
	Approved Stanto, American Educational Products #600, Fisher Science #S45163 or Equal.																mand & moto	CANAL TICE	TOTAL TITLE	I WILLIAM OF WICE
14	PLANETARIUM - ORBITER, Mode designed to show basic earth and moon motions.  Approved Brand: American Educational Products #101, Fisher Science #S45169 or Equal	11	EΑ									NB			\$228.60	\$2,514.60	61-2260			
15	MODEL - EARTHWORM Provides all the materials needed to study the structures and functions of the earthworm.  Approved Brand: American Educational Products #2756, Fisher Science #517907F or Equal	12	EA						\$114,15	\$1,369.80		NB			ИВ			The state of the s		
16	MODEL - GRASSHOPPER - Activity Set anatomical and cellular model, Approved Brand: American Educational Products #2753, Fisher Science #S17128 or Equal	12	EΑ						\$114.15	\$1,369.80		NB			NB					
17	MODEL - SOLAR SYSTEMCopernican. Base supports a 6 in. diameter sun surrounded by nine planets. Approved Brand: American Educational Products #200, Fisher Science #S45193 or Equal	14	EΑ		-							NB			NB					
18	MODEL - ANIMAL CELL - colored plastic organelies are translucent and transparent.	5	EA									NB			NB					

\$114.15

LEFT BLANK

\$1,369.80

IL JE GUACIFIED GRP. DID NOT BID ALL ITEMS.

ИВ

NΒ

\$8.05

QUALIFIED GROUP, DID NOT BID ALL ITEMS.

\$780.85 75-2181

LEFT BLANK

12 EΑ

97 EΑ

organelles are translucent and transparent. Approved Brand: Science Source #8-102, Fisher Science #S17129ND or Equal MODEL - CRAYFISH, Activity Set, anatomical and cellular models rupproved oranu. American Coucanoma Products #2752, Fisher Science #S171282, or Equal

GYROSCOPE, Single Form - Illustrates the principle of the gyroscope and rotational inertia.

Approved Brand: American Educational Products #7-795, Fisher Science #S40959 or Equal

TOTAL ITEMS 6-20

Page 3

	Type or print the complete			PLEASE C	OMPLETE															
	name of the bidder in this box:			ALL HIGH	IGHTED ARE	As														
	Bid No. 013-JJ05	-		BID PROP	OSAL FORM (	FORMAT B)														
	TITLE: SCIENCE EQUIPMENT & SUPPLIES						COMPLETE	D BY:												
	BUYER: Gladys Forero-Beltran					l	VERIFIED B													
		ESTIMA TED		PRICE	IF OFFERING OTHER	8	ENZ MICROSCO	PE		BIO COMPANY,	NC	CAPIT	TAL MICROSCOPE	SERVICES	CAR	OLINA BIOLOG	ICALS-	CONNECTIO	CO.	ICAL SUPPLY
ITEM	DESCRIPTION OF ITEM	QUANT TY		PER UNIT	THAN APPROVED	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Mod Uni	t Price	Total Price	Manuf & Mode	Unit Price	Total Price	Manul & Mod
	GROUP IV:																			
	The following items will be awarded on a total low bid basis. Vendor must bid all items in Group to be awarded. Items 21 through 24.																The state of the s			
21	MODEL - HUMAN TORSO AND HEAD, (Sexless) Life size, Dissectible into 13 parts										l									
	Approved Brand: Carolina Biological #56- 6610 or Equal	7	EA												\$612.00	\$4,284.00	56-6610		the state of the s	
22	MODEL, DNA - Molecular model enlarged 100 million times.		EA								<b> </b>	<b>†</b>								
	Approved Brand: T&S Educational Products #9-102, Fisher Science #S25825 or Equal	18	EA										0.000		\$134.10	\$2,413.80	17-1058			
23	MODEL, HUMAN DIGESTIVE SYSTEM Life size - 5 part plastic reproduction of the alimentary tract. Approved Brand: Denoyer Geppert 0143-		EA											NB						
	00, Fisher Science #S171592 or Equal MODEL, HUMAN SKELETON, Life size						ļ					ļ		ļļ			ļ		<u> </u>	
24	mounted on stand  Approved Brand: American 3B Scientific	13	EA												\$405.00	\$5,265.00	24-6875			
-	#A10, Fisher Science #S17133B or Equal										<u></u>									L
	TOTAL ITEMS 21-24		**************************************				LEFT BLANK			LEFT BLANK			NO BID		ALIFIED T BID AL	GROUP. DID L. ITEMS.			LEFT BLANK	
	GROUP V: The following items will be awarded on a total low bid basis. Vendor must bid all items in Group to be awarded. Items 25 through 30.														-					
	BALANCE Triple Beam, 610g capacily wilt 0.1g readabilily. Approved Brands: Ohaus 750-S0, Fisher Science #S40020 or equal	198	EA									NB		-	\$139.50	\$27,621.00	70-2150			
26	BALANCE top loading, capacity 200g Approved Brand: Ohaus #SPE202 Electronic Scout Pro, Fisher Scientific S67074 or Equal	31	EA									NB		-	\$300.60	\$9,316,60	70-2441			
														1			· · ·			أتت
	SHIELD, safety, curved, three sided, 30°high, 3/16 in.	17	EΑ			· · · · · · · · · · · · · · · · · · ·						NB			\$323.95	\$5,507.15	64-6350			
	Approved Brand: Bel-Art Products #H24962 Fisher Science S51222 or Equal SHIELD, safety, curved, three sided,																			
28	36"high, 3/16 in. Overall dimensions: 19 1/2W x 6 1/2D x 36in. H Approved Brand Bel-Art Products #H249640000, Fisher Science S51223 or		***************************************															-		
	Equal	3	EA									NB			\$369.00	\$1,107.00	64-6355			
29	HOTPLATE high-visibility glass ceramic top. Approved Brand: Corning #6795-200, Fisher Science S50442HP or Equal	106	EA									NB			\$199.12	\$21,106.72	70-1011A			
30	STIRRER/HOTPLATE high-visibility glass ceramic top, surface area: 4 X 5". temperature range 25 to 550 deg. Approved Brand: Corring #6795-220, Fisher Science S50446HP or Equal	75	EA									NB			5379.19					
				1											1					
	TOTAL ITEMS 25-30						LEFT BLANK			LEFT BLANK			NO BID			\$93,099.72			LEFT BLANK	

	<b>1</b>	
Type or print the complete	PLEASE COMPLETE	
name of the bidder in this box:	ALL HIGHLIGHTED AR	
Bid No. 013~JJ05	BID PROPOSAL FORM	_
TITLE: SCIENCE EQUIPMENT & SUPPLIES		COMPLETED BY:
BUYER: Gladys Forero-Beltran		VERIFIED BY:

		ESTIMA		PRICE	IF OFFERING		NZ MICROSCOF			BIO COMPANY, I	NO.	CARIT						CONNECTIO	UT VALLEY BIOLOGI	CAL SUPPLY
ITEM	DESCRIPTION OF ITEM	TED QUANTI			OTHER OTHER THAN APPROVED			Manuf &	Unit Price	-	Manuf &	i	Total Price	Manuf & Moo	i	OLINA BIOLOG	Manuf & Mode	Unit Price	CO.	Manuf & Mod
	GROUP VI: The following items will be awarded on an individual item basis, Items 31 through 35.																			
	ELECTROPHORESIS, Equipment Package, Package contains enough equipment for electrophoresis of 12 gels at one time.  Approved Brand: Carolina Biologial #213620 or equal		EΑ									NB			\$1,912.50	\$7,650.00	21-3620			
33	LIGHT BOX & OPTICAL SET - Includes illustrated experiment manual details 36 experiments perform in classroom. Approved Brand: Industrial Equipment & Control #HL2050-001, Fisher Science #S42208	66	EA									NB			\$126,90	\$8,375.40	75-5160			
1	RIPPLE TANK - Distortion-free, optically clear plate glass bottom.  Approved Brand: Science Source #15430, Fisher Science #5520782 or Equal	106	EA			\$299.00	\$31,694.00	SOURCE #P111				NB			\$310.50	\$32,913.00				
	AQUARIUMfreshwater sets, 30 gallon. Approved Brand; Science Kit VVV60214 M 08 or Equal	8	EA												NB					
	ITEMS 31, 33, 34, 36 INDIVIDUAL ITEM BASIS									LEFT BLANK			NO BID						LEFT BLANK	

..

		1		100	Jacobs Differen															
	Type or print the complete			PLEASE C		:														
	name of the bidder in this box:			ALL HIGHL	IGHTED ARE	<u>À</u> !														
	Bld No. 013-JJ05			BID PROPO	SAL FORM (	F(														
	TITLE: SCIENCE EQUIPMENT & SUPPLIES																			
	BUYER: Gladys Forero-Beltran								v											
		ESTIMA		PRICE	IF OFFERING	EDUCA	ATIONAL INNO	VATIONS	FLIP	N SCIENTIFI	C, INC.		FISHER SCIENC	E		FREY SCIENT	IFIC	F	ARA SCIENTI	FIC
		TED QUANTI	UNIT		OTHER THAN						1			Manuf &						
ITEM	DESCRIPTION OF ITEM	TY	(UOM)	PER UNIT	APPROVED	Unit Price	Total Price	Manuf & Mo	Unit Price	Total Price	Manuf & Moc	Unit Price	Total Price	Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Mod
	WARRANTY: Please indicate warranty if greater than one (1) year for each item as it applies.					ITEMS 25 DID NOT	ED GRP V, BI 5, 26 ONLY. G SUBMIT PAC MS 34 & 36.	ROUP VI,	GROUPS I LEFT BLAI		MS 1-37	4&5. PRIM ITEMS 6-20	FOR GROUP II, IARY FOR GRO D. PRIMARY FO EMS 21-24.	UP III, LINE	1-3. LOW I ITEMS 6-20 COMPLY. ( 25-30, DID	NOT BID ALL	SROUP III, DID NOT OUP V- ITEMS	SUBMITTE GROUP I, GROUP II, GROUP IV,	LINES 21-24	WS:  -3,   4 & 5,   LINE ITEM
	GROUP I: The ronowing items will be awarded as a total low bid basis. Vendor must bid all items to be considered for award, Items 1 through 3																			
1	MICROSCOPE,monocular, ultra lite cool light, fluorescent illumination system; with 4X, 10X, 40XR objectives; Stage: plain; Condenser: N.A. 0.65;	404	EA									\$225.50	\$91,102.00	S19617-5	\$274.93	\$111,071.72	#590439 APP'RD BRAND ALTERNATE:-	\$106.16	\$42,888.64	L&W BRAND
	Approved Brand:Swift #M3501DF, Fisher Scientific S19617-5 or Equal														\$137.49	\$55,545.96	KENAVISION			
2	MICROSCOPE, stereo, ultra lite illumination with 1X, 3X objectives; W10XD, 23mm; illuminator. Incident - 6V, 20W Halogen with dimmer switch.  Approved Brand: Swift #SM95-SM90HF.	143	EA									\$413.47	\$59,126.21	S95265B	\$421.32		SM95-90HF ALTERNATE:	\$177.75	\$25,418.25	C&A BRAND
	Fisher Scientific S95265B or Equal														\$199.99	\$28,598.57	KENAVISION T2200			
3	MICROSCOPE, stereo, ultra lite illumination with 1X, 2X objectives; W10XD, 23mm; illuminator: Incident - 6V, 20W Halogen with dimmer switch Approved Brand: Swift #SM91-SM90HF, Fisher Scientific S95265A or Equal	147	EΑ									\$413.47	\$60,780.09	S95265A	\$421.32	\$61,934,04 \$233,254.52	SM91-90HF TUTAL ITEMS 1-3	\$177.34	\$26,068.98	C&A BRAND
	TOTAL ITEMS 1-3						LEFT BLANK						#214 008 20			\$146,078.57	ALT TOTL		*04.376.97	
	GROUP II:						CLAIN						\$211,008.30	· ·		\$146,078.57	1-3	1	\$94,375.87	
	The following items will be awarded as a total low bid basis. Vendor must bid both items to be awarded. Items 4 and 5																			
4	MICROSCOPE Research Digital Microscope, 2.0 megapixel, 1,600 x 1,280- resolution, Irue-color images with this research-grade digital microscope.	4	EA									\$950.95		WESTOVE R SCIENTIFIC S90009B	\$1,069,99	\$4,279.96	DC5-163- ASC NAT'L OPT	\$734.54	\$2,938.56	I&W BRANDI
	Approved Brand: Wolfe DigiVu/Carolina Biological #591300 or equal																			
5	stereomicroscope, 2.0 megapixel. built in high-resolution camera connects to compuer via USB 2.0,	7	EA								-	\$938.95		WESTOVE R SCIENTIFIC S90015A	\$879.99	\$6,159,93	DC5-420TH NAT'L OPTICAL	\$1,025.04	\$7,175.28	L&W BRAND
	Approved Brand: Wolfe DigiVu CM Carolina Biological #592016 or equal																			
	TOTAL ITEMS 4 & 5						LEFT BLANK			LEFT BLAN	к		\$10,376.45			\$10,439.89			\$10,113.84	

Type or print the complete	PLEASE COMPLETE
name of the bidder in this box:	ALL HIGHLIGHTED AREA
Bìd No. 013-JJ05	BID PROPOSAL FORM (F
TITLE: SCIENCE EQUIPMENT & SUPPLIES	

	TITLE: SCIENCE EQUIPMENT & SUPPLIES																			
	BUYER: Gladys Forero-Beltran																			
	OUTER, Gladys Forero-Beltran	ESTIMA		PRICE	IF OFFERING	EDUCA	TIONAL INNO	VATIONS	FLII	IN SCIENTIFIC	C, INC.		FISHER SCIENC	Ē		FREY SCIENTI	FIC	ş	PARA SCIENTI	FIC
ITEM	DESCRIPTION OF ITEM	TED QUANTI TY	TINU (MOU)	PER UNIT	OTHER THAN APPROVED	Unit Price	Total Price	Manuf & Mo	Unit Price	Total Price	Manuf & Mod	Unit Price		Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Mo
	GROUP III:																			
	The following items will be awarded on a total low bid basis. Vendor must bid all items in Group to be awarded. Items 6 through 20.													*						
6	CHART - PERIODIC TABLE, Each element displays IUPAC name, symbol, atomic weight, oxidation states; density, boiling and melting points, number of naturally occurring radioactive isotopes and pertinen																			SGT WELCH
	information for the most abundant radioactive isotope.	17	ΕA									\$30,75	\$522.75	S45525	\$42.76	\$726.92	RM IND.,INC 1777	\$57.32	\$974.44	#21417- 990
	Approved Brands: Print Lab # LL1015, Fisher Science #S45525 or equal																-			
	CHART - ASTRONOMY/SOLARSYSTEM Colorful Complete Set:	12	EA									\$291,45	\$3,497.40	S24011-41	\$253.19	\$253.19		\$269.19	\$3,230.28	
	Approved Brands: Denoyer Geppert #1940 41, Fisher Science #S2401141 or equal																	4200.70	45,255,25	
	CHART - WEATHER SERIES complete set of 6 (including Weather Map) with Charthead/Tripod. Dimensions: 44" x 36".	16	EA									\$320.83	\$5,133.28	S24010-41	\$278.69	\$4,459.04		\$284.17	\$4,546.72	
	Approved Brand: Denoyer Geppert #1930- 41, Fisher Science S2401041, or equal																			
9	CHART - ZOOLOGY SET 21 Multi Colored Charts, Dimensions: 44" x 36" - complete series on charthead with tripod stand.	4	EA									\$594.80	\$2,379.20	S23151-41	\$516,79	\$2,067.16		\$562.85	\$2,251.40	
	Approved Brand: Denoyer Geppert #1994 41, Fisher Science S23151-41, or equal																			
10	CHART - LIFE SCIENCE SERIEŞ complete biology chart series that surveys and highlights the divesity of life with more than 300 illustrations. Approved Brand: Denoyer Geppert #1030- 41, Fisher Scientific #S2305041 or Equal	8	ΕA		A control of the cont							\$349.42	\$2,795.36	\$23050-41	\$303.57	\$2,428.56		\$304.85	\$2,438.80	
11	MAP-WEATHER MAP/PLOTTINGCHART Double sided chart helps students record and forecast weather conditions,	51	EA									\$47.93	\$2,444.43		\$51.74	\$2,638.74		\$57.14	\$2,914.14	
	Approved Brand: American Educational Products #462, Fisher Science #S45523 or Equal											73	72,70	İ		70,000.74		Ψ57.14	Ψ2,514.14	
	MODEL - MAP PROJECTION, Has three (3) map projections: cylindrical, conical, and azmuthal;	17	EΑ									\$60.98	\$1,036.66	45065	\$81.07	\$1,378.19		\$82.54	\$1,403.18	
	Approved Brand: American Educational Products #675, Fisher Science #S45065 or Equal																			
	GLOBE - HYDROGRAPHIC RELIEF Depicts undersea geography and geology:	47	EA									\$79.76	\$3,748.72	45163	\$91.97	\$4,322.59		\$127.52	\$5,993.44	

Type or print the complete	PLEASE COMPLETE
name of the bidder in this box:	ALL HIGHLIGHTED ARE
Bid No. 013-JJ05	BID PROPOSAL FORM
TITLE: SCIENCE EQUIPMENT & SUPPLIES	

	BUYER: Gladys Forero-Beltran																			
		ESTIMA		PRICE	IF OFFERING	EDUCA	TIONAL INNO	VATIONS	FLII	N SCIENTIFIC	C, INC.		FISHER SCIENC	E		FREY SCIENT	FIC	F	ARA SCIENTI	FIC
ITEM	DESCRIPTION OF ITEM	TED QUANTI TY	UNIT	PER UNIT	OTHER THAN APPROVED	Unit Price	Total Price	Manuf & Mo	Unit Price	Total Price	Manuf & Mod	Unit Price		Manuf & Model	Unit Price	Total Price	Manuí & Model	Unit Price	Total Price	Manuf & Mod
	Approved Brand, American Educational Products #600, Fisher Science #S45163 of Equal.																			
14	PLANET ARIUM - ORBITER, Model designed to show basic earth and moon motions. Approved Brand: American Educational Products #101, Fisher Science #S45169 or Equal		EA									\$70.24	\$772.64	S45169	\$133.67	\$1,470.37		\$124.14	\$1,365.54	
15	MODEL - EARTHWORM Provides all the materials needed to study the structures and functions of the earthworm. Approved Brand: American Educational Products #2756, Fisher Science #S17907F or Equal		_EA		,							\$76,92	\$923.04	S17907F	\$74.96	\$899.52		\$105.50	\$1,266.00	
	MODEL - GRASSHOPPER - Activity Set anatomical and cellular model, Approved Brand: American Educational Products #2753, Fisher Science #S17128 or Equal	12	EΑ									\$71,43	\$857.16	S17128	\$74.96	\$899.52		\$98.07	\$1,176.84	
17	MODEL - SOLAR SYSTEM,Copernican, Base supports a 6 in. diameter sun surrounded by nine planets. Approved Brand; American Educational Products #200, Fisher Science #S45193 or Equal	14	EA									\$48.81	\$683,34	S45193	\$68.18	\$954.52	SCIENCE FIRST SOL-100 TRIP. COPERNICAL SOLAR SYST.MDL	\$80.88	\$1,132.32	
18	MODEL - ANIMAL CELL - colored plastic organelles are translucent and transparent. Approved Brand: Science Source #8-102, Fisher Science #S17129ND or Equal	5	EA									\$335.23	\$1,676,15	S17129ND	\$341.04	\$1.705.20	And the second s	\$591.55	<b>\$2</b> .957.75	SGT WELCH #96011
19	MODEL - CRAYFISH, Activity Set anatomical and cellular models Approved pramo, American coudamorial Products #2752, Fisher Science #S171282, or Equal	12	EA									\$73.17	\$878.04	S17128-2	\$74.96	\$899.52		\$104.92	\$1,259.04	
20	GYROSCOPE Single Form - Illustrates the principle of the gyroscope and rotational inertia.  Approved Brand: American Educational Products #7-795. Fisher Science #S40959 or Equal	97	EA									\$8.24	\$799,28	S40959	\$4,44	\$430.68	TEDCO INC 00007	\$11.56	\$1,121.32	
	TOTAL ITEMS 6-20						LEFT BLANI	K		LEFT BLAN	ıĸ		\$28,147.45			\$25,533.7			\$34,031.21	

Type or print the complete	PLEASE COMPLETE
name of the bidder in this box:	ALL HIGHLIGHTED AREA
Bìd No. 013-JJ05	BID PROPOSAL FORM (FO
TITLE: SCIENCE EQUIPMENT & SUPPLIES	
BUYER: Gladys Forero-Beltran	

	TITLE: SCIENCE EQUIPMENT & SUPPLIES					il														
	BUYER: Gladys Forero-Beltran	L		L																
		ESTIMA		PRICE	IF OFFERING	EDUC	ATIONAL INNO	VATIONS	FLI	NN SCIENTIFIC	C, INC.		FISHER SCIENC	CE		FREY SCIENTI	FIC		PARA SCIENTI	FIC
ITEM	DESCRIPTION OF ITEM	TED QUANTI TY	UNIT (MOM)	PER UNIT	OTHER THAN APPROVED	Unit Price	Total Price	Manuf & Mo	Unit Price	Total Price	Manuf & Mod	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manul & Model		Total Price	Manuf & Mo
	GROUP IV: The following items will be awarded on a total low bid basis. Vendor must bid all items in Group to be awarded. Items 21 through 24. MODEL - HUMAN TORSO AND HEAD.																			
	(Sexless) Life size, Dissectible into 13 parts Approved Brand: Carolina Biological #56- 6610 or Equal	7	EA									\$336.47	\$2,355.29	S17150C AMER. 3B B13	\$953,33	\$6,673.31	American 38 817	\$11.73	\$82.11	
22	MODEL, DNA - Môlecular model enlarged 100 million times.	18	EA									\$76.32	\$1,373.76		\$74.17	\$1,335.06	KEMTEC 9-102	\$77.63	\$1,397.34	SGT WLCH #61907-35
	Approved Brand: T&S Educational Products #9-102, Fisher Science #S25825 or Equal MODEL, HUMAN DIGESTIVE SYSTEM																			
23	Life size - 5 part plastic reproduction of the alimentary tract. Approved Brand: Denoyer Geppert 0143- 00, Fisher Science #S171592 or Equal	4	EA									\$495,86	\$1,983.44	S17159-2	\$528.88	\$2,115.52		\$507.53	\$2,030.12	
24	MODEL, HUMAN SKELETON, Life size mounted on stand Approved Brand: American 3B Scientific	13	EA									\$155.63	\$2,023.19	S17133B	\$169.99	\$2,209.87		\$268.59	\$3,491.67	
	#A10, Fisher Science #S171338 or Equal		]				LEFT BLANK			LEFT BLANK		300	\$7,735.68			\$12,333.76				
	GROUP V: The following Items will be awarded on a total low bid basis. Vendor must bid all items in Group to be awarded. Items 25 through 30.												<b>47,700.00</b>			412,333.74			\$7,001.24	
	BALANCE, Triple Beam, 610g capacity with 0.1g readability. Approved Brands: Ohaus 750-S0, Fisher Science #S40020 or equal	198	EΑ	and the second		\$106.00	\$20,988.00	BAL-310				\$77.50	\$15,345.00	S40020	\$95.19 \$59.50	\$18,847.62 \$11,781.00	ALT: 1017514 FREY BRAND	\$65.50	\$12,969.00	ADAM EQUIP, TBB 610S
	BALANCE, top loading, capacity 200g Approved Brand: Ohaus #SPE202 Electronic Scout Pro, Fisher Scientific S67074 or Equal	31	EA			\$249.50	\$7,734.50	BAL 310				<b>\$</b> 189.77	\$5,882.87	S67074	\$209.68	\$6,500.08	525770	\$162.84	\$5,048.04	ADAM EQUIP CQT202
	SHIELD, safely, curved, three sided,					*********									\$144.46		ALT: CQT202 ADAM EQUP.			
2'	30"high, 3/16 in.  Approved Brand: Bel-Art Products #H24962 Fisher Science S51222 or Equal	17	EA									\$289.16	\$4,915.72	S51222	\$307.48	\$5,227.16		\$277.99	\$4,725.83	
28	SHIELD, safety, curved, three sided, 36"high, 3/16 in. Overall dimensions: 19 1/2W x 6 1/2D x 36in. H	-										\$326.75	\$980.25	S51223	NO PRICE	NO PRICE	H24964	\$311.72	\$935.16	
	Approved Brand: Bel-Art Products #H249640000, Fisher Science S51223 of Equal	3	EA																	
29	HOTPLATE high-visibility glass ceramic top. Approved Brand: Corning #6795-200. Fisher Science S50442HP or Equal	106	EA			. ]						\$172.90	\$18,327.40	S50442HP	\$151.66	\$16,075.96		\$164.90	\$17,479.40	
30	STIRRER/HOTPLATE high-visibility glass ceramic top. surface area: 4 X 5*, lemperature range 25 to 550 deg. Approved Brand: Corning #6795-220, Fisher Science S50446HP or Equal	75	EA								-	\$321.64	\$24,123.00	S50446HP	\$277.88	\$20,841.00	6795-220	\$313.35	\$23,501.25	
	TOTAL ITEMS 25-30						IED GROUP. IID ALL ITEM			LEFT BLANK			\$69,574.24		QUALIFIED	GROUP, DID ITEMS.	NOT BID ALL		\$64,658.68	

	PLEASE COMPLETE	Type or print the complete
	ALL HIGHLIGHTED AI	name of the bidder in this box:
RM (F	BID PROPOSAL FORM	3id No. 013-JJ05
R	BID PROPOSAL FOR	BId No. 013-JJ05

	BUYER: Gladys Forero-Beltran	<u> </u>															C			
		ESTIMA		PRICE	IF OFFERING	EDUCA	TIONAL INNO	VATIONS	FLI	IN SCIENTIFI	C, INC.		FISHER SCIENC	E		FREY SCIENTI	FIC		PARA SCIENTI	FIC
ITEM	DESCRIPTION OF ITEM	TED QUANTI TY		PER UNIT	OTHER THAN APPROVED	Unit Price	Total Price	Manuf & Mo	Unit Price	Total Price	Manuf & Moc	Unit Price		Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Mod
	GROUP VI: The following items will be awarded on an individual item basis, Items 31 through 35.																		The state of the s	
31	ELECTROPHORESIS, Equipment Package, Package contains enough equipment for electrophoresis of 12 gels at one time.  Approved Brand: Carolina Biologial #213620 or equal		EA									\$1,779.81	\$7,119.24	EDVOTEK PKG- 3 EA 509, 6 EA 504, 6 EA 588, 1 EA 552, 1 DNA SCIENCE	\$948.96		55-1140 NEOSCI	LEFT BLANK		
33	LIGHT BOX & OPTICAL SET - Includes illustrated experiment manual details 36 experiments perform in classroom. Approved Brand: Industrial Equipment & Control #HL2060-001, Fisher Science #S42208	66	EA									<b>\$</b> 102.06	\$6,735.96	S42208	\$58,36	\$3,851.76	30-1525 NEO SCI	BLANK		
	RIPPLE TANK - Distortion-free, optically clear plate glass boltom.  Approved Brand: Science Source #15430, Fisher Science #S520782 or Equal	106	EA									\$248.81	\$26,373.86	\$520782	\$219.99	\$23,318.94		LEFT BLANK		
36	AQUARIUMfreshwater sets, 30 gallon. Approved Brand: Science Kit WW60214 M 08 or Equal	8	EΑ									NB			NB			LEFT BLANK		
	ITEMS 31, 33, 34, 36 INDIVIDUAL ITEM BASIS						LEFT BLANK			LEFT BLANK									LEFT BLANK	

	Tues and the same first	1																		
	Type or print the complete name of the bidder in this box:			- P. P. S.	OMPLETE LIGHTED ARE	A.														
	Bid No. 013-JJ05				OSAL FORM (I	<del></del>														
	TITLE: SCIENCE EQUIPMENT & SUPPLIES			BID PROPI	DSAL FORM (I															
	BUYER: Gladys Forero-Beltran																			
	BOTCK, Gladys Porero-beitran	$\vdash$		<b> </b>	IF.	<b> </b>	***************************************					,	· · · -		:	***************************************				
		ESTIMA TED		PRICE	OFFERING OTHER	ļ	PASCO SCIENTI	FIC	F	EPCO, IN	C	s,	ARGENT-WELC	H/VWR	SCIEN	ICE KIT & BORE	EAL LABS		SEMPCO, INC	<del>,</del>
ITEM	DESCRIPTION OF ITEM	QUANT! TY		PER UNIT	THAN APPROVED	Unit Price	Total Price	Manuf & Mo	Unit Price	Total Pric	Manuf & I	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Mode	Unit Price	Total Price	Manuf & Mor
	WARRANTY: Please indicate warranty if greater than one (1) year for each item as it applies.						1 - V, NO BID. MS 31 & 36 NO	חום	DID NOT FOR GRI ITEMS 1:	OUPS 1-V	PAGES	LOW BIDDI ITEMS 4 & SUBMITTE FOR GROU GROUP VI, LINE ITEM	ER FOR GROU 5 BUT SAMPL D. SAMPLE NO IP IV, LINE ITE LINE ITEM 33	ES WERE NOT OT SUBMITTED M 22 AND . GROUP VI, , SPECS CALL	I QUALIFIED IVALID UNT	) BID. GROUP IL JULY 31, 20		LEFT BLAI LINE ITEM ITEMS. GR	- IV, LINE ITEMS NK. QUALIFIED S 25 - 30, DID N OUP VI, LINE ITI LEFT BLANK.	GROUP V, OT BID ALL
	GROUP I: The following nems will be awarded as a total low bid basis. Vendor must bid all items to be considered for award.Items 1 through 3																			
1	MICROSCOPE,monocular, ultra lite cool light, fluorescent illumination system; with 4X, 10X, 40XR objectives; Stage: plain; Condenser; N.A. 0.65;	404	EΑ			<u></u>	NO BID					\$234.95	\$94,919,80		\$332.10	\$134,168.40	5532001			
	Approved Brand: Swift #M3501DF, Fisher Scientific S19617-5 or Equal																			
2	MICROSCOPE, stereo, ultra lite illumination with 1X, 3X objectives; W10XD, 23mm; illuminator: Incident - 6V, 20W Halogen with dimmer switch.	143	EA				NO BID					\$407.95	\$58,336.85		\$575.10	\$82,239.30	5540250			
	Approved Brand: Swift #SM95-SM90HF, Fisher Scientific S95265B or Equal																			
3	MICROSCOPE, stereo, ultra lite litumination with 1X, 2X objectives; W10XD, 23mm; illuminator; Incident - 6V, 20W Halogen with dimmer switch Approved Brand: Switt #SM91-SM90HF, Fisher Scientific S95265A or Equal	147	EΑ				NO BID					\$407.95	\$59,968.65		\$575.10	\$84,539.70	1799-85			
	TOTAL ITEMS 1-3						NO BID		DID NOT S FOR LINE ABOVE				\$213,225.30			\$300,947.40			LEFT BLANK	
	GROUP II:																			
	The following items will be awarded as a total low bid basis. Vendor must bid both items to be awarded. Items 4 and 5																			
4	MICROSCOPE Research Digital Microscope, 2.0 megapixel, 1,000 x 1,280- resolution, true-color images with this research-grade digital microscope.	4	EΑ				NO BID			<del>]</del>		\$994.00	\$3,976.00	NAT'L DC5- 163 WLS 48149-DG PG589	\$1,493.10	\$5,972.40	1799-94 SEE PG51			
	Approved Brand: Wolfe DigiVu/Carolina Biological #591300 or equal																			
5	MICROSCOPE - Computer stereomicroscope, 2.0 megapixet, built in high-resolution camera connects to compuer via USB 2.0.	7	EA				NO BID			TM		\$794.00	\$5,558.00	NAT'L DC3- 420T WLS48149- DF PG590	\$1,349.10	\$9,443.70	57900-17 PG 55			
	Approved Brand: Wolfe DigiVu CM Carolina Biological #592016 or equal								DID NOT S		VGE 0		40.00							
	TOTAL ITEMS 4 & 5		.,				NO BID	Į.	FOR LINE ABOVE				\$9,534.00			\$15,416.10			LEFT BLANK	

Type or print the complete	PLEASE COMPLETE
name of the bidder in this box:	ALL HIGHLIGHTED AREA!
Bid No. 013-JJ05	BID PROPOSAL FORM (FC
TITLE: SCIENCE EQUIPMENT & SUPPLIES	

	TITLE: SCIENCE EQUIPMENT & SUPPLIES																			
	BUYER; Gladys Forero-Beltran																			
		ESTIMA TED		PRICE	IF OFFERING OTHER		PASCO SCIENT	IFIC		PEPCO, IN	C	S,	ARGENT-WELCH	//WR	SCIEN	ICE KIT & BOR	EAL LABS		SEMPCO, INC	
ITEM	DESCRIPTION OF ITEM	QUANTI TY		PER UNIT	THAN APPROVED	Unit Price	Total Price	Manuf & Mo	Unit Price	Total Pric	Manul & I	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Mode	Unit Price	Total Price	Manuf & Mod
	GROUP III: The following items will be awarded on a total low bid basis. Vendor must bid all ttems in Group to be awarded. Items 6 through 20.																			
6	CHART - PERIODIC TABLE, Each element displays IUPAC name, symbol, atomic weight, oxidation states; density, boiling and melting points, number of naturally loccurring radioactive isolopes and perlinent																			
	information for the most abundan radioactive isotope.	17	EΑ				NO BID					\$35.39	\$601.63		\$30.15	\$512.55	61056-97			
	Approved Brands: Print Lab # LL1015, Fisher Science #S45525 or equal						NO BID													
7	CHART - ASTRONOMY/SOLARSYSTEM Colorful Complete Set:	12	EΑ				NO BID					\$255.96	\$3,071.52		\$359.10	\$4,309.2	1761-19 PG447			
	Approved Brands: Denoyer Geppert #1940 41, Fisher Science #S2401141 or equal																			
8	CHART - WEATHER SERIES complete set of 6 (including Weather Map) with Charthead/Tripod. Dimensions: 44" x 36".	16	EA				NO BID				 	\$281.76	\$4,508.16		\$391,50	\$6,264.00	46341-00			
	Approved Brand: Denoyer Geppert #1930- 41, Fisher Science S2401041, or equal						NO BID							i						
	CHART - ZOOLOGY SET 21 Multi Colored Charts, Dimensions: 44" x 36" - complete series on charthead with tripod stand.	4	EΑ				NO BID					\$522.38	\$2,089.52	3	\$715.50	\$2,862.00	SP1994- 41TEH			
	Approved Brand: Denoyer Geppert #1994 41, Fisher Science S23151-41, or equal						NO BID		, , ,											
10	CHART - LIFE SCIENCE SERIES complete biology chart series that surveys and highlights the divesity of life with more than 300 illustrations. Approved Brand: Denoyer Geppert #1030-									The state of the s	!			1		-	SO1030-			
11	41, Fisher Scientific #S2305041 or Equal  MAP-WEATHER MAP/PLOTTINGCHART  Double sided chart helps students record and forecast weather conditions,	51	EA EA				NO BID					\$310.48	\$2,483.84 \$2,494.41		\$405.00 \$44.99	\$3,240.00 \$2,294.49	DRY ERASE VERSION			
	Approved Brand: American Educational Products #462, Fisher Science #S45523 or Equal		استندم			***************************************					!	1.3.31	72,107.71		4,77.43	VL,207.73				
	MODEL - MAP PROJECTION, Has three (3) map projections: cylindrical, conical, and azmuthal;	17	EΑ				NO BID					\$76.64	\$1,302.88		\$105.75	\$1,797.75	64051			
	Approved Brand: American Educational Products #675, Fisher Science #S45065 or Equal										1			!						
	GLOBE - HYDROGRAPHIC RELIEF Depicts undersea geography and geology:	47	EA.				NO BID					\$116.73	\$5,486,31		\$161.10	\$7,571.70	63877-01			

Type or print the complete PLEASE COMPLETE ALL HIGHLIGHTED AREA:

Bid No. 013-JJ05

BID PROPOSAL FORM (FC

7.

	BUYER: Gladys Forero-Beltran																			
		ESTIMA TED		PRICE	IF OFFERING OTHER	<u> </u>	PASCO SCIENTI	FIC	P	PCO, IN	С	S	ARGENT-WELCH	I/WR	SCIEN	ICE KIT & BORE	AL LABS		SEMPCO, INC	
ITEM	DESCRIPTION OF ITEM	QUANTI TY		PER UNIT	THAN APPROVED	Unit Price	Total Price	Manuf & Mo	Unit Price	Total Pric	Manuf & f	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Mode	Unit Price	Total Price	Manuf & Mod
	Approved Brand, American Educational Products #600, Fisher Science #S45163 of Equal.						NO BID			A STREET										
	PLANETARIUM - ORBITER, Mode designed to show basic earth and moor motions. Approved Brand: American Educational Products #101, Fisher Science #\$45169 or Equal	11	EΑ			1900	NO BID					\$113.64	\$1,250.04		\$156.83	\$1,725.13	63873.01			
15	MODEL - EARTHWORM, Provides all the materials needed to study the structures and functions of the earthworm. Approved Brand: American Educational Products #2756, Fisher Science #S17907F	12	EA.				NO BID					\$90.82	\$1,089.84		\$139.25	\$1,671.00	SP81-4065			
16	or Equal  MODEL - GRASSHOPPER - Activity Set anatomical and cellular model, Approved Brand: American Educational Products #2753, Fisher Science #S17128 or Equal	12	EA				NO BID NO BID NO BID					\$90.82	\$1,089.84		\$139.25	\$1,671.00	SP81-4067			
17	MODEL - SOLAR SYSTEM Copernican, Base supports a 6 in, diameter sun surrounded by nine planets, Approved Brand: American Educational Products #200, Fisher Science #S45193 or Equal	14	ĔΑ				NO BID					\$74.51	\$1,043.14		\$124.16	\$1,738.24	63878-01 PG457			
	MODEL - ANIMAL CELL - colored plastic organelles are translucent and transparent. Approved Brand: Science Source #B-102, Fisher Science #S17129ND or Equal	5	EA				NO BID				]	\$324.87	\$1,624.35		\$472.50	\$2,362.50	67951-01			
19	MODEL - CRAYFISH, Activity Set anatomical and cellular models approved brains, American Educational Products #2752, Fisher Science #S171282, or Equal	12	EA				NO BID					\$90,82	\$1,089,84		\$125.33	\$1,503.96	68976-03			
20	GYROSCOPE, Single Form - Illustrates the principle of the gyroscope and rotational inertia.	97	EA				NO BID					\$9.84	\$954.48		\$8.96	\$869.12	62020-00			
	Approved Brand: American Educational Products #7-795, Fisher Science #S40959 or Equal			Sometime and the			NO BID													
	TOTAL ITEMS 6-20	L					NO BID		DID NOT S FOR LINE				\$30,179.80	ļ <u>ļ</u>		\$40,392.64	L		LEFT BLANK	

	Type or print the complete			PLEASE C	OMPLETE															
	name of the bidder in this box:			ALL HIGHL	IGHTED AREA	<u>.</u>														
	Bid No. 013-JJ05			BID PROPO	SAL FORM (F	-(														
	TITLE: SCIENCE EQUIPMENT & SUPPLIES																			
	BUYER: Gladys Forero-Beltran										-									
		ESTIMA TED		PRICE	IF OFFERING OTHER		PASCO SCIENTI	FIC	Р	EPCO, IN	С	l s	ARGENT-WELCH	I/WR	SCIEN	CE KIT & BORI	EAL LABS		SEMPCO, INC	
ITEM	DESCRIPTION OF ITEM	QUANT	UNIT	PER UNIT	THAN APPROVED	Unit Price	Total Price	Manul & Mo	Unit Price	Total Pric	Manul & I	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Mode	Unit Price	Total Price	Manuf & Moc
	GROUP IV: The following items will be awarded on a lotal low bid basis. Vendor must bid all items in Group to be awarded. Items 21 through 24.			,	:					ابوا								d basesianos infraecus		
21	MODEL - HUMAN TORSO AND HEAD, (Sexless) Life size. Dissectible into 13 parts Approved Brand: Carolina Biological #56- 6610 or Equal	7	EΑ				NO BID					\$344.53	\$2,411.71		\$1,935.00	\$13,545.0	67935-01 PG 334			
	MODEL, DNA - Molecular model enlarged 100 million times. Approved Brand: T&S Educational Products	18	EA				NO BID					\$77.59	\$1,396.62	SGT WELCH WLS 61907- 32(\$60.05 & WLS61907-	\$134.96	\$2,429.2	68566.01 BPG125			
23	#9-102, Fisher Science #325825 or Equal MODEL, HUMAN DIGESTIVE SYSTEM Life size - 5 part plastic reproduction of the alimentary tract.  Approved Brand: Denoyer Geppert 0143-00, Fisher Science #5171592 or Equal	4	EΑ				NO BID					\$501,45	\$2,005.80	32P(\$17.54)	\$378.00	\$1,512.00	66724-43 PG A ATTACHED			
	MODEL, HUMAN SKELETON, Life size mounted on stand Approved Brand: American 3B Scientific #A10, Fisher Science #S17133B or Equal	13	EA				NO BID					\$172.89	\$2,247.57		\$620.10	\$8,061.30	67933-01			
	TOTAL ITEMS 21-24						NO BID		DID NOT FOR LINE ABOVE				\$8,061.70			\$25,547.5			LEFT BLANK	
	GROUP V: The following items will be awarded on a total low bid basis. Vendor must bid all items in Group to be awarded. Items 25 through 30.											A Control of the Cont								
	BALANCE, Triple Beam, 610g capacity witt 0.1g readability. Approved Brands: Ohaus 750-S0, Fisher Science #S40020 or equal	198	EA				NO BID					\$85.20	\$16,869.60		\$139.50	\$27,621.00	60375-00	\$62.00	\$12,276.00	AMERICAN SCIENFIC BS-2610
26	BALANCE top loading, capacity 200g Approved Brand: Ohaus #SPE202 Electronic Scoul Pro, Fisher Scientific S67074 or Equal	31	EA				NO BID					\$183.38	\$5,684.78		\$285.57	\$8.852.67	47191-02			
27	SHIELD, safety, curved, three sided, 30"high, 3/16 in.	17	EA				NO BID					\$292.74	\$4.976.58		\$324.00	\$5,508.00	68640-30			
	Approved Brand: Bel-Art Products #H24962 Fisher Science S51222 or Equal SHIELD, safety, curved, three sided.																			
28	36"high, 3/16 in. Overall dimensions: 19 1/2W x 6 1/2D x 38in. H Approved Brand: Bel-Art Products #H249640000, Fisher Science S51223 or Equal	3	EΑ				NO BID					\$325.74	\$977.22		\$324.0C	\$972.00	68640-30 TEH PG667			
29	HOTPLATE, high-visibility glass ceramic lop. Approved Brand: Corning #6795-200. Fisher Science S50442HP or Equal	106	EΑ				NO BID					\$157.49	\$16,693.94		\$216.45	\$22.943.70	62083-06			
30	STIRRER/HOTPLATE high-visibility glass ceramic top, surface area: 4 X 5", temperature range 25 to 550 deg. Approved Brand: Corning #6795-220, Fisher Science S50446HP or Equal	75	EA	Control of the Contro			NO BID				1	\$299.94	\$22,495.50		\$410.81	\$30.810.75	45113-00			
	TOTAL ITEMS 25-30						NO BID		DID NOT : FOR LINE ABOVE.				\$50,828.02			\$96,708.12		QUALIFIEI	D GROUP. DID N ITEMS.	IOT BID ALL

	Type or print the complete			PLEASE C	OMPLETE.															
	name of the bidder in this box:			1,465,6740	IGHTED AREA	Á.														
	Bid No. 013-JJ05				SAL FORM (F	=														
	TITLE: SCIENCE EQUIPMENT & SUPPLIES																			
	BUYER: Gladys Forero-Beltran																			
		ESTIMA TED		PRICE	IF OFFERING OTHER		PASCO SCIENT	IFIC	Р	EPCO, IN	IC .	s	ARGENT-WELC	H/VWR	SCIEN	ICE KIT & BOR	AL LABS		SEMPCO, INC	
ITEM	DESCRIPTION OF ITEM	QUANT TY		PER UNIT	THAN APPROVED	Unit Price	Total Price	Manul & Mo	Unit Price	Total Pric	Manuf & f	Unit Price	Total Price	Manuf & Mode	Unit Price	Total Price	Manuf & Mode	Unit Price	Total Price	Manuf & Moo
	GROUP VI: The following items will be awarded on an individual item basis, Items 31 through 35.																			
31	ELECTROPHORESIS, Equipmen Package, Package contains enough equipment for electrophoresis of 12 gels at one time.  Approved Brand: Carolina Biologial #213620 or equal		EA				NO BID					\$3,894.00		ADVANCED DNA GROUPING- EDVOTEK506 6, WLS5066, PG827	1		-			
33	LIGHT BOX & OPTICAL SET - Includes illustrated experiment manual details 36 experiments perform in classroom. Approved Brand: Industrial Equipment & Control #HL2060-001, Fisher Science #S42208	66	ξA			\$645.05	\$42,573.30					\$92.95	\$6,134.70	WL3659	\$210.25	\$13,876.50	68182-00 W/68182-01 & 68182-02 PG813			
	RIPPLE TANK - Distortion-free, optically clear plate glass bottom.  Approved Brand: Science Source #15430, Fisher Science #S520782 or Equal	106	EA		-	\$664.05	\$70,389.30	PASCO WA-9899				\$250.89	\$26,594.34		\$317.66		67310-85 PG	\$221.24	\$23,451.44	INST. RH2401-A
36	AQUARIUMfreshwater sets, 30 gallon. Approved Brand: Science Kit WW60214 M 08 or Equal	8	EA				NO BID					\$158.87	1	WARD 21- 6529 WLS1032-G, PG 646	LEFT BLANK					
	ITEMS 31, 33, 34, 36 INDIVIDUAL ITEM BASIS								DID NOT FOR LINE ABOVE.											

		SI .												
	Type or print the complete			10.00	OMPLETE									
	name of the bidder in this box;				IGHTED ARE	=								
	Bid No. 013-JJ05			BID PROP	OSAL FORM (F	FC								
	TITLE: SCIENCE EQUIPMENT & SUPPLIES BUYER: Gladys Forero-Beitran													
	BOTER, Gladys Foreto-Basican	E07114	Γ	PRICE	IF.	SUNCOA	ST SURGICAL	& MEDICAL				VWR ED	UCALTION,LLC	DBA WARD'S
ITEM	DESCRIPTION OF ITEM	ESTIMA TED QUANT TY			OFFERING OTHER THAN APPROVED	Unit Price	SUPPLY Total Price	Manuf & Mo		ELL COMMUN	Manuf & Moo	Lloit Price	NATURAL SCI	Manuf & Model
							J. 4444	Alexandr ware	I I	Troop, trice	manur & Nice	ONET TICE	protarrice	3[
	WARRANTY: Please indicate warranty if greater than one {1} year for each item as it applies.					THROUGH GROUP VI,	- V, LINE ITE 30 WERE LEF LINE ITEMS : EFT BLANK.	T BLANK.	ITEMS 1 ITEMS. C III - V, LIN GROUP V	ED GROUPS - 5, DID NOT DID NOT BID O NE ITEMS 6 T VI, DID NOT E I, 33, 34 & 36.	BID ALL PROUPS HROUGH 30 HD LINE	DAYS, THR	BID. PRICES : OUGH OCT. 7, DN ORDERS TO MORE.	2009. FREE
	GROUP I:													
	total low bid basis. Vendor must bid all items to be considered for award.Items 1 through 3													
1	MICROSCOPE, monocular, ultra lite cool light, fluorescent illumination system; with 4X, 10X, 40XR objectives; Stage: plain; Condenser: N.A. 0.65;	404	EA			\$144.00	\$58,176.00	ABCO MF- 03SS	\$177.00	\$71,508.00	KEN-A- VISION T1901	\$339.99	\$137,355.96	25W6060
	Approved Brand:Swift #M3501DF, Fisher Scientific S19617-5 or Equal						4643							
2	MICROSCOPE, stereo, ultra lite illumination with 1X, 3X objectives; W10XD, 23mm; illuminator: Incident - 6V, 20W Halogen with dimmer switch.	143	EA			\$199.00	\$28,457.00	ABCO SMP13F	\$207.00	\$29,601.00	KEN-A- VISION T2200			
	Approved Brand: Swift #SM95-SM90HF, Fisher Scientific S95265B or Equal													
3	MICROSCOPE, stereo, ultra lile illumination with 1X, 2X objectives; W10XD, 23mm; illuminator. Incident - 6V, 20W Halogen with dimmer switch Approved Brand: Switt #SM91-SM90HF, Fisher Scientific S95265A or Equal	147	EA			\$199.00	\$29,253.00	ABCO SMP12F	NO BID					
	TOTAL ITEMS 1-3						\$115,886.00		QUALIFI	ED GROUP. I		QUALIFIE	D GROUP, DIE ITEMS.	NOT BID ALL
	GROUP II:													
	The following items will be awarded as a total low bid basis. Vendor must bid both items to be awarded. Items 4 and 5													
4	MICROSCOPE - Research Digital Microscope, 2.0 megapixel, 1,600 x 1,280-resolution, true-color images with this research-grade digital microscope.	4	EA						\$837.00	\$3,348.00	KEN-A- VISION T- 19641C	\$1,125.0C	\$4,500,00	BOREAL 24W0511
	Approved Brand: Wolfe DigiVu/Carolina Biological #591300 or equal MICROSCOPE - Computer													
	stereomicroscope, 2.0 megapixel, built in high-resolution camera connects to compuer via USB 2.0,	7	EΑ						NO BID			\$1,150.00	\$8,050.00	BOREAL 24W0513
	Approved Brand: Wolfe DigiVu CM Carolina Biological #592016 or equal													
	TOTAL ITEMS 4 & 5						LEFT BLANK		QUALIFI	ED GROUP. D ALL ITEMS			\$12,550.00	

Type or print the complete	PLEASE COMPLETE
name of the bidder in this box:	ALL HIGHLIGHTED AREA
Bid No. 013-JJ05	BID PROPOSAL FORM (F
TITLE: SCIENCE EQUIPMENT & SUPPLIES	
BUYER: Gladys Forero-Beltran	

	TITLE: SCIENCE EQUIPMENT & SUPPLIES	1)		0		li .								
	BUYER: Gladys Forero-Beltran													
		ESTIMA TED		PRICE	IF OFFERING OTHER	SUNCOA	ST SURGICAL SUPPLY	& MEDICAL	TROX	ELL COMMUN	ICATIONS	VWR ED	UCALTION,LLC NATURAL SCI	
ITEM	DESCRIPTION OF ITEM	QUANTI TY		PER UNIT	THAN	Unit Price	Total Price	Manuf & Mod	Unit Price	Total Price	Manuf & Mod	Unit Price	Total Price	Manuf & Mod
	GROUP III:													
	The following items will be awarded on total low bid basis. Vendor must bid all items in Group to be awarded. Items 6 through 20.								NO BID					
6	CHART - PERIODIC TABLE, Each element displays IUPAC name, symbol, atomic weight, oxidation states; density, bolling and melting points, number of naturally occurring radioactive isolopes and pertinent information for the most abundant radioactive isolope.		EA						NO BID					
	Approved Brands: Print Lab # LL1015, Fisher Science #S45525 or equal													
7	CHART - ASTRONOMY/SOLARSYSTEM Colorful Complete Set:	12	EΑ						NO BID					
	Approved Brands: Denoyer Geppert #1940 41, Fisher Science #S2401141 or equal													
8	CHART - WEATHER SERIES complete set of 6 (including Weather Map) with Charthead/Tripod. Dimensions: 44" x 36".	16	EA						NO BID					
	Approved Brand: Denoyer Geppert #1930- 41, Fisher Science S2401041, or equal													
-	CHART - ZOOLOGY SET 21 Multi Colored Charts, Dimensions: 44" x 36" - complete series on charthead with tripod stand.  Approved Brand: Denoyer Geppert #1994 41, Fisher Science \$23151-41, or equal	4	EA		,				NO BID					
10	CHART - LIFE SCIENCE SERIES complete biology chart series that surveys and highlights the diversity of life with more than 300 illustrations. Approved Brand: Denoyer Geppert #1030-41, Fisher Scientific #82305041 or Equal	8	EA						NO BID					
11	MAP-WEATHER MAP/PLOTTINGCHART Double sided chart helps students record and forecast weather conditions.	51	ĔΑ						NO BID			\$68.06	\$3,471.06	33W2280
	Approved Brand: American Educational Products #462, Fisher Science #S45523 or Equal													
12	MODEL - MAP PROJECTION, Has three (3) map projections: cylindrical, conical, and azmuthal;	17	EΑ						NO BID			\$105.00	\$1,785.00	80W6150
į	Approved Brand: American Educational Products #675, Fisher Science #S45065 or Equal													
	GLOBE - HYDROGRAPHIC RELIEF Depicts undersea geography and geology;	47	EA						NO BID					

Type or print the complete	PLEASE COMPLETE
name of the bidder in this box:	ALL HIGHLIGHTED ARE
Bid No. 013-JJ05	BID PROPOSAL FORM (
TITLE: SCIENCE EQUIPMENT & SUPPLIES	
BilVER: Gladus Sarata Baltran	E

,	BUYER: Gladys Forero-Beitran													
		ESTIMA	TIMA PF		IF OFFERING	SUNCOAST SURGICAL & MEDICAL SUPPLY			TROX	ELL COMMUNI	CATIONS	VWR EDUCALTION, LLC DBA WARD'S NATURAL SCIENC		
ITEM	DESCRIPTION OF ITEM	TED QUANTI TY		PER UNIT	OTHER THAN APPROVED	Unit Price	Total Price	Manuf & Mod	Unit Price	Total Price	Manuf & Moo	Unit Price	Total Price	Manuf & Model
	Approved Brand, American Educational Products #600, Fisher Science #S45163 of Equal.								NO BID					
	PLANETARIUM - ORBITER, Mode designed to show basic earth and moon motions. Approved Brand: American Educational Products #101, Fisher Science #\$45169 or Equal	11	EA						NO BID			\$155.00	\$1,705.00	80W8201
	MODEL - EARTHWORM Provides all the materials needed to study the structures and functions of the earthworm. Approved Brand: American Educational Products #2756, Fisher Science #S17907F or Equal	12	ΕA						NO BID			\$125.00	\$1,500,00	81W4065
	MODEL - GRASSHOPPER - Activity Set anatomical and cellular model, Approved Brand: American Educational Products #2753, Fisher Science #S17128 or Equal	12	EΑ						NO BID			\$125.00	\$1,500.00	81W4067
	MODEL - SOLAR SYSTEM Copernican, Base supports a 6 in. diameter sun surrounded by nine planets. Approved branc: American Educational Products #200, Fisher Science #S45193 or Equal	14	EΑ						NO BID					
	MODEL - ANIMAL CELL - colored plastic organelles are translucent and transparent. Approved Brand: Science Source #B-102, Fisher Science #S17129ND or Equal	5	EΑ						NO BID			\$445.00	\$2,225.00	81W4734
	MODEL - CRAYFISH, Activity Set anatomical and cellular models Approved orang, American coucanonal Products #2752, Fisher Science #S171282, or Equal	12	EΑ						NO BID			\$124,00	\$1,488.00	81W4066
	GYROSCOPE, Single Form - Illustrates the principle of the gyroscope and rotational inertia.  Approved Brand: American Educational	97	EA						NO BID					
	Products #7-795, Fisher Science #S40959 or Equal											CUAUCIE	GROUP, DID	UOT D/S A) I
	TOTAL ITEMS 6-20		=======================================				LEFT BLANK			NO BID		QUALIFIEL	ITEMS.	NOT BID ALL

		รา												
	Type or print the complete			PLEASE C	OMPLETE	: A+								
	Bid No. 013-JJ05				OSAL FORM (	2								
	TITLE: SCIENCE EQUIPMENT & SUPPLIES	1		DID I ROP	JOAC I OILIW (I	Ì								
	BUYER: Gladys Forero-Beltran													
	BOTER. Gladys Porero-Bellran	<b> </b> -	1		IF	SUNCO	AST SURGICAL	& MEDICAL	i			VWR ED	UCALTION.LLC	DBA WARD'S
		ESTIMA TED	1	PRICE	OFFERING OTHER		SUPPLY	T	TROX	ELL COMMUN	ICATIONS		NATURAL SCIE	
ITEM	DESCRIPTION OF ITEM	QUANT TY	(UOM)	PER UNIT	THAN APPROVED	Unit Price	Total Price	Manuf & Mod	Unit Price	Total Price	Manuf & Mod	Unit Price	Total Price	Manuf & Model
	GROUP IV: The following items will be awarded on a total low bid basis, Vendor must bid all items in Group to be awarded. Items 21 through 24.										The state of the s			
21	MODEL - RUMAN TORSO AND HEAD, (Sexless) Life size, Dissectible into 13 parts Approved Brand: Carolina Biological #56-	7	EA						NO BID			\$489.06	\$3,423.42	81W3090
	6610 or Equal		<u> </u>											
22	MODEL, DNA - Molecular model enlarged 100 million times.	18	EA						NO BID				LEFT BLANK	
	Approved Brand: T&S Educational Products #9-102, Fisher Science #S25825 or Equal													
23	MODEL, HUMAN DIGESTIVE SYSTEM Life size - 5 part plastic reproduction of the alimentary tract. Approved Brand: Denoyer Geppert 0143- 00, Fisher Science #5171592 or Equal	4	EA						NO BID			\$647.10	\$2,588.40	SPECIAL D.G. #0143-00
24	MODEL, HUMAN SKELETON, Life size mounted on stand	13	EA						NO BID			\$229.00	\$2,977.00	82W3010
	Approved Brand: American 3B Scientific #A10, Fisher Science #S17133B or Equal	L												
	TOTAL ITEMS 21-24						LEFT BLANK			NO BID		QUALIFIED ITEMS.	GROUP, DID N	OT BID ALL
	GROUP V:								NO BID					
	The following items will be awarded on a total low bid basis. Vendor must bid all items in Group to be awarded. Items 25 through 30.								·					
	BALANCE Triple Beam, 610g capacity with 0.1g readability. Approved Brands: Ohaus 750-S0, Fisher Science #S40020 or equal	198	EA				·		NO BID					
26	BALANCE top loading, capacity 200g Approved Brand: Ohaus #SPE202 Electronic Scout Pro, Fisher Scientific S67074 or Equal	31	EΑ						NO BID					
	SHIELD, safety, curved, three sided, 30"high, 3/16 in.	17	EA						NO BID					
	Approved Brand: Bel-Art Products #H24962 Fisher Science S51222 or Equal SHIELD, safety, curved, three sided.													
28	36"high, 3/16 in. Overall dimensions: 19 1/2W x 6 1/2D x 36in, H Approved Brand, Bel-Art Products #H249640000, Fisher Science S51223 or		100 PM	The state of the s				nigeti.	NO BID					
	Equal HOTPLATE high-visibility glass ceramic top. Approved Brand: Corning #6795-200,	3	EA											
	Fisher Science S50442HP or Equal STIRRER/HOTPLATE high-visibility glass	106	EA						NO BID					
30	ceramic top, surface area: 4 X 5", temperature range 25 to 550 deg, Approved Brand: Corning #6795-220, Fisher Science S50446HP or Equal	75	EA						NO BID			100 miles		
	TOTAL ITEMS 25-30						LEFT BLANK			NO BID			EFT BLANK	

	Type or print the complete			PLEASEC	OMPLETE										
	name of the bidder in this box:			1004 (943)	JGHTED ARE	<u>.</u>									
	Bid No. 013-JJ05			BID PROPI	OSAL FORM (F	- =(									
	TITLE: SCIENCE EQUIPMENT & SUPPLIES														
	BUYER: Gladys Forero-Beltran														
		ESTIMA		PRICE	IF PRICE OFFERING	SUNCOA	SUNCOAST SURGICAL & MEDICAL SUPPLY			TROXELL COMMUNICATIONS			VWR EDUCALTION, LLC DBA WARD'S NATURAL SCIENC		
ITEM	DESCRIPTION OF ITEM	TED QUANT TY	TINU (MOU)		OTHER THAN APPROVED	Unit Price	Total Price	Manuf & Moc	Unit Price	Total Price	Manuf & Moo	Unit Price	Total Price	Manuf & Model	
	GROUP VI: The following items will be awarded on an individual item basis. Items 31 through 35.														
31	ELECTROPHORESIS, Equipmen Package, Package contains enough equipment for electrophoresis of 12 gels at one time.  Approved Brand: Carolina Biologial #213620 or equal	4	EA						NO BID			LEFT BLANK			
33	21 3020 of equal   LIGHT BOX & OPTICAL SET - Includes   illustrated experiment manual details 36   experiments perform in classroom.   Approved Brand: Industrial Equipment &   Control #HL2060-001, Fisher Science   #S42208	66	EA						NO BID			LEFT BLANK			
	RIPPLE TANK - Distortion-free, optically clear plate glass bottom.	105	EA						NO BID						

LEFT BLANK

Approved Brand: Science Source #15430, Fisher Science #S520782 or Equal

AQUARIUMfreshwater sets, 30 gallon. Approved Brand: Science Kit WW60214 M 08 or Equal

ITEMS 31, 33, 34, 36 INDIVIDUAL ITEM BASIS 8 EA

LEFT BLANK

LEFT BLANK

NO BID

NO BID